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-�+������

�
.������.� ����! "#�


�� 
�1

����! "#�


�� 
�2

����! "#�


�� 
�3

����! "#�


�� 
�4

1 83.4 85.8 86.7 42.3 31.2

2 79.5 85.5 86.4 36.0 33.6

3 93.3 99.9 101.1 35.1 32.7

4 79.2 87.3 97.5 37.2 33.3

5 75.6 89.4 87.9 30.9 32.1

6 88.5 89.4 86.7 36.0 34.5

7 74.7 92.1 91.2 33.6 30.6

8 84.9 95.1 95.7 33.0 33.0

9 65.09 90.0 98.1 33.9 31.8

10 71.59 93.6 92.4 34.8 31.2

����5
�� 79..36 90.81 92.37 35.28 32.40

���6�,��.� 69.00 85.50 86.40 30.90 30.60

����7��.� 88.50 99.90 101.10 42.30 34.50

�������� ������6


8��

6.6550 4.4812 5.4543 3.0437 1.2329



70

��	�
��
 9 ����	
����'�6��
����
-��

�� ���������������
��������
������
�
��

������	����	������
�������	������������������
� 
������!
�	
"#"$����%��%&��'"���	

��	���������(�
)* �

�+�	��	�,���-"*���������	��	���������(�
)* ���� LSD (Least Significant Different)

��:�� R/n   �:�    
,�����5
��  (mean rank) !��6�
��
.����
��

n  �:� E,����6��� ���!��6�
��
.����
�����6�����
�$
� ���� �!���
F(�G���+ n=10

t    �:� ����'�6����"��E��6�
����� t !���
F(�G���+�,�#�� α = 0.025; degree of 

freedom (df) = N-k = 45; �(��E��6�
�� t0.025,45 = 2.0141

S2    �:� �����$
$
�����"��E����
�,���%����7
 !���
F(�G���+ S2=212.44

           r   �:�       
,��������6�
�����
� �E�������� "$#�������

N �:� E,��������7
��+�#�� !���
F(�G���+ N=50

���������
����

Chi-square 41.053

df 4

Asymp. Sig 0.000
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T �:� ���"�
\����
\���"��E����
�,���%����7
!�6�
����� 4 (!���
F(�G���+ T=41.053)

k �:� E,�����
.����
����+�#�� (!���
F(�G���+ k=5)

E����
������!��76
��:+��6�� "��������]6 ������� 5.52 �(���
%����	
6������


,�����5
�� 
�#�����
.�� 2 �
.�� ������������ 5.52 ������� ��+� 2 �
.������$
� ���� ��������6�6���

���� ������� �,���^ ���
���������-:������
�� 
� 95

!����6
�������� #��	
6������
,�����5
�� 
�#�����
.�� 2 �
.�� �������� ����

#
:��������������]6 (5.52) ������� ��+� 2 �
.������$
� ���� �"���������6�6���������
���������-:��

����
�� 
� 95
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,�����5
�� ���������������
��������
.����������������! "#�
�� 
� 1 '(� 4 *� 

 �+,�#���

�
.������� 
,�����5
�� 

�
.������.� 27.5

!������! "#�
�� 
� 1 38.6

!������! "#�
�� 
� 2 40.4

!������! "#�
�� 
� 3 14

!������! "#�
�� 
� 4 7
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��������
.����������������! "#�
�� 
� 1 *� �+,�#��� ���"����
   ��
$
���_�`��� ��
"��
� �
��
.����������������! "#�
�� 
� 1 *� �+,�#��� ���
   ����
$
���_�`��� ��
-.���
"��
� (�����$����
)

-�+������ !������! "#�
�� 
�1 !������! "#�
�� 
�1

�
�-.���
"��
�

1 85.8 58.5

2 85.5 59.7

3 99.9 82.2

4 87.3 70.2

5 89.4 73.5

6 89.4 70.2

7 92.1 73.2

8 95.1 58.8

9 90.0 59.4

10 93.6 63.3

����5
�� 90.81 66.9

���6�,��.� 85.5 58.5

����7��.� 99.9 82.2

�������� ������6
8�� 4.48 8.14



73

��	�
��
 12   ��������5
�� ���������6����
�
�����
.����������������! "#�
�� 
� 1 '(� 4
*� �+,�#��� �
��
.������.����"��������! "#� (a.6-$���\ 6����+�)

-�+������ �
.������.� ����! "#�


�� 
�1

����! "#�


�� 
�2

����! "#�


�� 
�3

����! "#�


�� 
�4

1 0.45 3.69 2.72 3.17 4.35

2 0.42 4.67 4.37 3.31 5.18

3 0.49 5.28 3.67 3.39 4.31

4 0.46 4.39 3.49 3.65 3.55

5 0.42 3.59 3.45 3.37 5.01

6 0.43 3.46 4.41 3.99 5.03

7 0.41 3.13 3.89 3.95 4.28

8 0.48 3.67 3.55 4.59 3.59

9 0.45 2.76 2.90 3.31 4.76

10 0.44 2.54 3.41 4.39 4.27

����5
�� 0.44 3.72 3.59 3.71 4.03

���6�,��.� 0.41 2.54 2.72 3.17 3.55

����7��.� 0.48 5.3 4.41 4.59 5.18

�������� ������6
8�� 0.02 0.85 0.55 0.49 0.57
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�� ���������������6����
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��������
��� ���

�
��

���������6����
�
����

Chi-square 28.433

df 4

Asymp. Sig 0.000

������	����	������
�������	������������������
� 
����������� ��	�	����$����%��%&��

'"���	��	���������(�
)* �

�7�76
��
�,���%��� �'�6���
�$
� ���� ��-��������� LSD !�_��	���#��� 70

n �:� E,����6��� ���!��6�
��
.����
�����6�����
�$
� ���� � !���
F(�G���+ n=10

t �:� ����'�6����"��E��6�
����� t !���
F(�G���+�,�#�� α = 0.025; degree of 

freedom (df) = N-k = 45; �(��E��6�
�� t0.025,45 = 2.0141

S2 �:� �����$
$
�����"��E����
�,���%����7
 !���
F(�G���+ S2=212.44

N �:� E,��������7
��+�#�� !���
F(�G���+ N=50

T �:� ���"�
\����
\���"��E����
�,���%����7
!�6�
����� 7 (!���
F(�G���+ T=28.433)

k �:� E,�����
.����
����+�#�� (!���
F(�G���+ k=5)

E����
������!��76
��:+��6��"��������]6 ������� 8.875 �(���
%����	
6������


,�����5
�� 
�#�����
.�� 2 �
.�� ������������ 8.875 ������� ��+� 2 �
.������$
� ���� ��������6�6���

���� ������� �,���^ ���
���������-:������
�� 
� 95

!����6
�������� #��	
6������
,�����5
�� 
�#�����
.�� 2 �
.�� �������� ����

#
:��������������]6 (8.875) ������� ��+� 2 �
.������$
� ���� �"���������6�6���������
��������

�-:������
�� 
� 95
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,�����5
�� ���������������6����
�
��������
.����������������! "#�
�� 
�

 1 '(� 4 *�  �+,�#���

�
.������� 
,�����5
�� 

�
.������.� 5.5

!������! "#�
�� 
� 1 29

!������! "#�
�� 
� 2 26.5

!������! "#�
�� 
� 3 27.3

!������! "#�
�� 
� 4 39.2
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 15  ����������������6����
�
��������
.����������������! "#�
�� 
� 1*� �+,�
#��� (a.6-$���\ 6����+�)

-�+������ !������! "#�
�� 
�1

*� �+,�#���

!������! "#�
�� 
�1 *� �+,�#��� �������


$
���_�`��� ��
-.���
"��
�

1 3.69 4.76

2 4.67 2.46

3 5.28 8.67

4 4.39 3.53

5 3.59 6.47

6 3.47 6.92

7 3.12 5.08

8 3.67 6.31

9 2.76 4.51

10 2.54 4.14

����5
�� 3.72 5.29

���6�,��.� 2.54 2.46

����7��.� 5.28 8.66

�������� ������6
8�� 0.85 1.83
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���������+,� 
�#�����
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��
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      ������! "#�
�� 
� 1 *� �+,�#���

Tests of Between-Subjects Effects
Transformed Variable: Average

Source
Type III Sum
of Squares df Mean Square F Sig.

Intercept .393 1 .393 245.073 .000
GR .005 1 .005 2.961 .102
Error .029 18 .002
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 20 	
����'�6�*� ��
����
��#\�����$
$
���������+,� *� ��
�$
� ���� �
�#����
                   �������
.������.�
Control Pairwise Comparisons
Measure: MEASURE_1

95% Confidence Interval for
Difference(a)

(I) DAY (J) DAY

Mean
Difference

(I-J) Std. Error Sig.(a) Lower Bound Upper Bound

2 -.015(*) .002 .000 -.020 -.009
3 -.080(*) .009 .000 -.099 -.060

1

4 -.118(*) .016 .000 -.154 -.081
2 1 .015(*) .002 .000 .009 .020

3 -.065(*) .009 .000 -.086 -.044
4 -.103(*) .017 .000 -.141 -.065

3 1 .080(*) .009 .000 .060 .099
2 .065(*) .009 .000 .044 .086
4 -.038(*) .010 .005 -.061 -.015

4 1 .118(*) .016 .000 .081 .154
2 .103(*) .017 .000 .065 .141
3 .038(*) .010 .005 .015 .061
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Based on estimated marginal means
*  The mean difference is significant at the .05 level.
a  Adjustment for multiple comparisons: Least Significant Difference (equivalent to no
adjustments).
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����'�6�*� ��
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��#\�����$
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���������+,� *� ��
�$
� ���� �
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     �������
.�����������! "#�
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� 1*� �+,�#���

Silk 1% Pairwise Comparisons
Measure: MEASURE_1

95% Confidence Interval for
Difference(a)

(I) DAY (J) DAY

Mean
Difference

(I-J) Std. Error Sig.(a) Lower Bound Upper Bound

2 -.017(*) .003 .000 -.023 -.011
3 -.101(*) .011 .000 -.126 -.077

1

4 -.129(*) .011 .000 -.155 -.103
2 1 .017(*) .003 .000 .011 .023

3 -.085(*) .010 .000 -.107 -.062
4 -.112(*) .011 .000 -.136 -.088

3 1 .101(*) .011 .000 .077 .126
2 .085(*) .010 .000 .062 .107
4 -.027(*) .002 .000 -.033 -.022

4 1 .129(*) .011 .000 .103 .155
2 .112(*) .011 .000 .088 .136
3 .027(*) .002 .000 .022 .033

Based on estimated marginal means
*  The mean difference is significant at the .05 level.
a  Adjustment for multiple comparisons: Least Significant Difference (equivalent to no
adjustments)




